


SERIES CP
CYLINDER POSITIONING ASSEMBLY
SPECIFICATIONS

SPECIFICATIONS
CHARACIER|tiNCS
Supply Prsgsure 40-100 PSlc (3.0-7.0 KsTcmr)
Signal Pre€sure 3-15 PSlc (0.2-l Kq/cm,)
Lineari|y Less than I 2%
Hysteresis Less than 'l %
Repeatability Less than l qio

Sensllivity Less than 0.5% ot full soan
Air ConsumDtion { in.) 0.64 Scfm (18 Numin) @ 70 PSIG (5.0 Ksf/cm?)
Supply ftsssure Efu 0.5% p€r 7 PSIG (0.5 Ksf/cm,) Chanse

A|ailabb Cylinder Siz€5
Bore: 2" to 4" (50-100mm)
Stroke: 1" (25 mm) min. to 12" (300 mm) max.

Opeialing Temperafure 40-140.F (5-50.C)
Resoonse Time Reler to Chart

The SMC Series "CP' Cylinder Positioner provides accurate and stable positioning
for use in proces$@nt.ol, servocontroland other general industries. lt iscompactly
designed for ea$y installation and naintenance.

OPERATION (Refer to Diagram below)
Under 'Zero Signal Pressure"condilions, air entering the Supply Port pressurizes

both Spool End Diaphragms {7) & (8) of Valve Spool (9). Due to pressurc loss
thru restriction oritice and Nozzle (6), the Spool is unbalanced and moves totvard
orifice end. This causes Supply Pressure to pressurize Rod End ol cylinder (Out
2) and exhaust through {Out 1), causing rytinder to retract. At this point, the Vatve
Spool is held in a neutral positon by the pressure of End Diaphragm (8), batancing
lhe pressure on Diaphragm (7) generated by the proximityof Nozzle (6) with Signal
Diaphragm (3).

When "Signal Air Pressurc" is introduced, movement in Signal Diaphragm (3)
restricls lhe air escaping from Nozzle (6) and increases effective air pressure to
Valve Spool Diaphragm (7). This causes Valve Spool (9) to move and allows
supply air to extend the cylinder.

When effective force on Feed Back Spring (2) neutralizes Signal Diaphragm
(3), Valve Spool (9) will return to neutral position; and the cylinder will remain in
posilion relative to signal pressure.

A Span Adjuster and Zero Adjuster are provided lor fine adjustment of the Feed
Back Spring (2).

SUP IN

'Supply Pressure 75 PSI
Signal Pressure 15 PSI

Inslallalion Requirements:
1 . Supply and Signal air must be dry and dust free. Recommend use of SMC Senes

AM Mist Segarator.

2. lt is recommended that a SMC Series lR Instrument Regulalor or Series tT Trans-
ducer be Lrsed with Signal Air Supply.

3. Check for conlaminants and clean out air lines before conneclano to unit.

SUP srG srGSUP

2

Incre€sing Signal Conatanl signal Decreasing Signal



CYLINDER POSITIONING ASSEMBLY
HOW TO ORDER

HOW TO ORDER
The part number key below will assist in ordering.

substitute the required bofe, stroke, etc., in the key example to conslruct the number ol the required actuator.

CP A1 D N 50 3 0 0 ' H
T- Optionssertes --r- -l

Cyllnd€rType ------J N
R
H
J
K

Cushions Both Ends
WithoutCushions
Cushion - FrontEnd
Cushion - RearEnd
Rod Boot (Nylon)(Max. Temp.140'F (60"C))
Rod Boot (Rubber) (l\rax. Temp. 230"F (1 10'C) )
Stroke
Min. = 1" (25mm)
Max.  :12" (300mm)
Others Consult Factory'When ordering stroke should be in mm not inches.
Boi€ (ln. Nom.)
50mm (2)
63mm (2'/.1
80mm (3)
100mm (4)

Mounting
B Bodystuds
L Foot
F Front Flange
G RearFlange
C Sgl. Clevis
D Dbl. Clevis
T Trunnion
Service
N Non-Lubed

Accessories
Bore

Descriplion 50mm 63mm 80 mm 10O mm

FodSgl. Clevis t-05 r-05 t-08 t- 10
Rod Dbl. Clevis Y-O5A Y.O5A Y-O8A Y-1OA

Fod Clevis Pin CDP.3 CDP-3 CDP-5 CDP-6
Rod Nul NT.05 NT-05 NT.O8 NT-10

Mounlinq Brackel Clevis Pln CDP.3 CDP.4 CDP.6 CDP-7



SERIES CP
CYLINDER POSITIONING ASSEMBLY
DIMENSIONS

CPA1 B N

vr/o Boot with Boot'
BORE B D E K L M MM N s H z. I n e zz

1 3 8
(35) 170)

2 0 5
(52)

0.79
l2D) 140)

0.39
( 1 0 )

3.94
(100)

r 5 0
(38) (62)

1 .38
(35)

0.43
( 1 1 ) M l 8 i 1 . 5

I  1 8
(30)

1.22
( 3 1 )

3.4
(90)

2 2 4
(58)

6 2 6
1159)

2.05
(s2) 11.2)

2.60
166)

s
T
o
E

6 5 7
(167)

1 3 8
(35)

3.35
(85)

2 5 2
(64)

0.79
l2D)

1 .57
(40)

0.39
(10)

3.94
(100)

1 .50
(38)

2.44
(62)

1 .38
(35)

0 .55
(14)

M 1 8 x l  5
1.22
( 3 r )

1.22
( 3 1 )

3.86
(s8)

2.24
(s3)

6.69
(170)

2.O5
(.521

2.da
(66) (r78)

1.57
(40)

402
(102)

3.07
{78)

0.98
(25)

2.05
(52)

0.55
( 1 4 )

3.94
{100)

1 .50
(38) \62)

1 .34
(35)

o.67
( 7 ) M22x1.5 (3?)

1 2 2
( 3 1 ) { 1 1 6 )

2.79
( 7 1 )

4.03
1204)

2.56
(65)

3 .15
130)

8 3 9
[2r3)

1 5 7
(40)

4.57
( 1 1 6 )

362
(s2)

1 1 8
130)

205
t52)

0.55
( 1 4 )

3.94
(100)

r .50
(38) (62)

1 .34
(35)

o.67
(17) M22x1 5

1 .57 1 2 2
(31) (126)

2.43
o2)

8.46
1215)

2.56
(65)

0.55
14.0)

3 .19
l 8 r )

ea2
1224)

'Min. Slroke = 079 (20mrt) w h Boot Mr limelers i. Parenlneses

CPA1 BN

do Boot with Boot'

BORE D E G'GB J K M MM N P H z. I e zz
1.38
(35)

2.76
(70)

2.05
(52)

o.79
(20)

1.57
(40)

0.39
00)

0.67
(17) MBxl 25 a.2a

(;)
0.43
( 1 1 ) M18x1.5

t . l 8
(30)

3 5 4
(s0)

2 2 8
t58)

6.26
(1s9)

205
(52) ( 1 1  2 )

2 6 0
(66)

s
T

o
E

6.57
t167)

1 .34
(35)

3 3 5
(85)

2.52
(64) {20)

1 5 7
(40)

0 3 9
o0)

0 6 7
o7) Ml0x1 25 o 2 a

(7)
0.55

M 1 A x 1 5
't.22
( 3 1 )

3 8 6
(93)

2 2 8
153)

6 6 9
(r 70)

2 0 5
(52) 1112)

264
(66) 1173)

1 5 7
(40)

4.02
l102)

3.07
(78)

0.98
(25)

205
(52)

0 5 5
(14)

0 8 3
(21) Ml2x1.75 ( 1 1 ) \'17)

lV22x1.5 (37)
4 5 7
( 1 1 6 )

2 7 9
(71)

a m
(204)

256
(65)

049
( r2  5 )

3 1 5
(80)

8 3 9
1213)

1 5 7
(40) l r 1 6 )

3 6 2
(92) (30)

205
(52)

0 5 5
(14)

0 8 3
(21J Ml2x1.75 ( 1 1 )

o 6 7
<17)

lV26x1.5
'| 57
(40)

4 9 6
(126)

243
\721 (21s)

2 5 6
(6s)

0 5 5 3 1 9
(81)

L A 2
t.2241

4

"Min Stroke = 0 79' (20mm) wnh Boot Mr limeters n Parenlheses



SERIES CP
CYLINDER POSITIONING ASSEMBLY
DIMENSIONS

CPA1 LN

ROD BOOT

w/o Boot with 8001 .
BORE B D GA'GA K MM N P x LD LH H zz h

1 3 8
(35)

2.76 2.05
t52l

0 7 9
l:20)

1 .57 1.39
(10)

0.67 M8x1.25 J.2A
t7 l

M18r l  5 1 . 1 4 3 5 4
l90l

1 .06
lz7)

1 5 1
o3 )

3 5 4
ls0J

2.24
(58) 1188)

2.05
(52) '11.212.60

(66)

s
T
o
E

7 7 2
(196)

1 3 8
(35)

3.35
(85)

2.52 079
(20)

1 5 7 1.39
(10)

0.67 M10x1.25i.2a
l7 l

M18x1 5 1 .22
(31)

3 8 6
l93l

1 .34
(341

1.63
(16)

0.45
1 1 1 . 5 )

1 9 7
t50l

6 5 4
t1661

2.2A
(53J

8 . 1 1
1206)

2.O5
l52l '11 .2 \ 2 6 0

(66J
8 4 3
(?14)

(401
402
(1021

1.07
(73)

0.98
t25l

205
(52)

t.55
(14)

0.83
121\

1 4 3
t 1 1 )

M22x1 5 1 .46
(37)

457
( 1 1 6 1

1.73t 6 3
i16t

0.53
113.5)

2 5 6
t65l

8 0 3
1204\

2.80
(71)

9.72
1247\

2 5 6
t65l

0.49'12 .5 \ 3 . 1 5
l80J

10.08
(256)

l40l
457
a 1 t 6 )

3.62
192)

0.98
/30)

2.05
(52)

0 .55
(14)

0.83
t21)

Ml2x1 75 1 4 3
( 1 1 ) M26x1.5 1 5 7

(40)
4 9 6
(126)

1 .69
i43l

t.67
(1? l

0.53
113.5)

2.95
t75l

8.35
(212\

2.83
(72)

r0.16
1258)

2 5 6
(6sl

0.55 3 . 1 9
ta1)

1 0  5 1
1267\

[,lil imelers in Par€ntheses_M n. Srole = 0.79 120mm) waool

CPA1 FN

w/o Boot with gool'

BORE a EB c o E K M tit N P FD FT FX FZ H zz d 1 n e zz
1 3 8
(35)

3 1 9
(811

2.76
(70)

2.05
(52)

0.79
(20)

1 5 7
(40) 117) MBxl 25

0.24
(7)

0 4 3
{ r  1 ) Mr8x1.5

1 1 8
{30J

3.54
(90)

2.76
t70l

035
(9.0) l.12) (90) (50)

4.33
(110)

228
l5a)

6.26
o59)

2.24
(s€)

2.05
(52)

0.59
(1s)

2.60
(66)

s
T

o
E

167

1 3 8
{35)

3.98
o 0 1 )

3 .35
(85)

2.52
(64)

0.79
(20)

1 5 7
{40)

o 6 7
tlr) M10x1.25

0.24
(7) (14) M18x1.5

'1.22

(31)
3.86
(98)

3.39
(86)

0.,15 0 5 9
(15)

4 . 1 3
(1051

2.42
(59)

5 . 1 2
1130)

224
(58)

6.69
(170)

2.24
(58i (52)

0 6 9
r7 .5)

e.60
(66) 1 m

1.57
(40)

4 6 9
( 1 1 9 )

a 0 2
(102)

3.07
(73)

0.94
(251

2.05
(52)

0.83
121) M12x1.Ts

0..11
( 1 i )

0 6 7
117) M22x1.5

1 .46
(37) ( 1 1 6 )

4.02
(102)

0.53 0 7 1
(18)

5 . 1 2
(130)

2.99
(76)

6.30
(r 60)

2 8 0
(71)

8 0 3
(204)

t . I 5
(80)

2.56
(65)

0.95
'21 .51

L 1 5
(e0)

1.57 524 4 5 7 3 6 2 1 . 1 8 2.05 0.83
M12x1.75

).43 0 6 7 1.57 4.96 4.57 0.53 0 7 1 5 9 1 3.62 7.09 243 8 4 6 3 1 5 2.56
(65t

0.85 L t 9

5

"Min  St roke  =  079 ' (20nn)w h  Boo l Millineiers in Pa€nlneses



SERIES CP
CYLINDER POSITIONING ASSEMBLY
DIMENSIONS

CPA1GN

'Min. Slroke = 0.7S' (20mm) wilh Boot

wo Eoot with Boot'

BORE B D E F K MM N P FD FT FX FZ H zz I h 22

1 3 6
(3s)

3 . 1 9
(81)

2.76
(70)

2.05
(52)

o.79
(20)

1.57
(40)

0.39
( 1 0 )

0.67
( 1 7 ) MAx1.25

024
l7t M18x1.5

1 . 1 4
(30)

3 5 4
(90)

2 7 6
(70)

0 3 5
( s 0 ) (.12)

3.54
(90)

1 .97
(50)

4.33
( 1 1 0 )

2.28
(54)

6 3 0
o60)

205
(52) 11 2 l

2.60
(66)

s
T

o
E

6.61
(168)

1.38
{3s)

3.98
( 1 0 1 )

3.35
(85)

2.52
(s)

0 7 9
(20) (40)

0.39
( 1 0 )

0.67
( 1 7 )

0 2 8
t7l M l a x 1 5

1.22
( 3 i )

3.86
(98)

3.39
(86)

0.45
11 5)

0.59
(15) 1105)

2.32
(59)

5 . 1 2
1130)

2.24
(56)

6.73
(171)

2.O5
(52) 11.2)

2.60
(66)

7.05
(179)

1 .57
(40)

4.69
(1r9)

a.o2
(1021

3.O7
(78)

0 9 4
(25)

2.05
(52t

0.55
(14)

0.83
l21l M10r1 .75

0 4 3
( 1 1 ) M22r1.5

i .46
(37) 0 16)

4.O2
(102)

0.53
13.5)

o.71
0 8 )

5.12
l130)

2.99
(76)

6.30
tr60)

2.80
l71l

4.07
(205)

2.56
(65)

0 .49
12 s )

3 .15
(80)

8.43
(214)

1 5 7
(40)

524
(133) 016)

3.62
\92)

1 . 1 8
(30)

2.05
\521

0.55
(14)

0.83
l21l M12x1.75

043
( 1 1 ) [426x].5

1.57
(40)

4.96
(126)

4.57
(116)

0.53
13.5)

0.71
(18)

5 .91
1150)

3.62
ls2)

7.09
1180)

2.83
172)

8.50
(216)

2 5 6
(65)

0 5 5
1 4 0 1

3 1 9
(81)

8.86
(2251

Mil lmele6 in Pa.enthess

CPA1 CN

BOD BOOT

w/o Boot withBool r

SORE A D O ,GB J K MM N P RR s CD cx tl z z. n z zz

50mm 1.38
(35)

2.76
t70)

2.O5
152l

c 7 9
t20\

1.57
a44l

0.39
i10t

0.67
117\

M€x1.25l .2B
t7 l

1 .38
(35)

1 . 1 8
(30) t12\

3.54
t90)

1 .75
a19 l

o7t ;lli 2 2 6
{58)

7.20
11831

7.68
lt 95)

2,05
ts2) 1 1 2 \

2.40
(66)

s
T
o
K
E

7 5 2
' 1 9 1 )

7 9 9
1203J

1.38
(35)

3.35
t85)

2 5 2
(641

0 7 9
t20\

1 .57
440)

0.39
1 1 0 )

0.67
i17J

d 1 0 ! 1 2 5x.2B
\71

1.57
140)

M18r1  5 1.22
(31)

0 6 3
(16)

3.86
{981

1.91
(23) Q5 .3:

?28
{58) 1961

8.35
1212\

2.05
ts2) 11.2 \

2.AO
(66)

803 8 6 6
:220\

4.O2
(l 02)

307
t7B)

0 9 3
(25)

2 .05
(s2)

0.55
(14)

0.83
t 2 1 l

n 1 2 t 1 7 a1.43 i .B9 M2211.51 .46
137)

c 7 9
(201t 1 r 6 l

1 . 1 0
(24)

1 24 :8;li'
3 r . 5 : l i i  I

2.80
(71)

9.25
(235)

1 0 0 9
(25s)

2.56
(65)

0.49
r 2  5 )

3 . 1 5
(80)

9 6 1
1244\

t0.39
:264\

1 5 7
t 1 1 6 )

3 6 2
t92l

0 9 8
(30)

2 .05
(52)

0.83
i21l

n 1 z 1 . 7 ax.43
o 1 )

2.24
(58)

M26x1.51 5 7
a40)

c 9 8
125\

4.96
(126\

1 .42 140 l ;$? '
3s.s iBl

2.83
\f2) {256)

l 1  0 6
i281t

2.56
(65)

0.55 3 1 9
l6 i )

t0.43
(265)

11.42
(290)

'Mn Srrohe = 079 (2cdm) wiBool MirideleB in Pa€n$€ses



SERIES CP
CYLINDER POSITIONING ASSEMBLY
DIMENSIONS

CPA1 DN

ROO BOOT

w/o Eoot ool '
RE A D E F GAGE K L MM N P BB s U CD cx cz H z zz oe h 22

1.38
t35)

2.76
l70l

2.05
{52)

x.79
(20)

1.57
l40t

0 3 9
o0l

0.67
t17 l

MAxl 25 0.n
t7\

1.38
t35)

1 .  t a
{30) 112)

3.54
190)

1 .75
419)

0.7r l33ii!
18.0 l3i ) (37)

z.2a
(58)

7.20
(143)

7 6 8
o95)

2.05
(52) 11.2)

2 6 0
(66)

S
T

o
e

7.52
1 9 1 )

799
1203t

L3a
135) l85l

2.52
(64)

0.79
(20)

1.57
140)

0.39
00)

0.67
(171

M8x1.25 0.28
t7)

1 5 7 M 1 8 x 1 . 5
'|.22
(31)

0.63
(16)

3.65
{98)

1.91
(23) 25.0 l3i )

1.89
ga)

2.24
(58)

T.-t2
(r96j

8.35
(212)

2.O5
(vJ 1 1  2 )

?.60
l66l

8.03
t2a4)

4,66
'220)

1 .57 4.02
h02)

t.o7
(78)

0.98
(25)

2.05
(52)

t.55
i14 l

0.43
121)

).43
t l l I

1.89
(44)

M22xL5 1.46 ) 7 9
(20t

457
1 1 1 5 1

1 . 1 0
(2Al

r.21 :;dd5r
3 1 . 5  : 3 :  l

2.36
(60)

2.gJ
171)

9.25
t235)

I0.04
t255)

2.56
(65)

0.49
1 2  5 )

1 . 1 5
t80l

9 .61
1244\ (264)

1 .57 4.57
( 1 1 6 )

3.62
(92)

1 . 1 8
(30)

2.05
(52)

).55
(14)

0 4 3
t21)

1.43
l l 1 )

2.25
(54)

M26xl 5 1 .57
(40)

1.98
(25)

4 .96
(1261

1.42
(36)

I 40 ;;&i,
35.5 i3 l  )

2.56
t65)

2.83
l72l

'0.08
(2561

t 1 0 6 2.56
t65)

0.55 3 . 1 9 10.,13
(265)

1 t  4 2
t2901

'Min sboke - 0.?s' i20mh) w'Bool

CPA1TN

ROD BOOT

with Boof
BORE B D E J K MM P s dTDeB TT TX TY TZ H z zz h zl

1 3 4
(351

2 7 6 2.O5
152\

o.79 1.57 0 3 9
i10l

067
117\ M8x1.25

0.28
(7\ M16x1.5

1 1 4
(30)

3.54
i90l

o 5e 8;tjj
(15 3, ' *

1 . 1 4
(30)

g 7
(95t

2.99 5.31
t135)

2.24
(581 (1031

6.06
(1541

2.05
(521 11.2)

260
(66)

s
T

o
E

1 1 1 1
6 3 8

1.38
l35l

3 3 5
(85)

2.52
(64)

0.79
(2Ol

1 .57 0.39 0.67
t17 l

0 2 8 1.22
(31)

386
tgal

o 71 ,6: 1.57 4.33
( 1 1 0 )

3.62
t92)

6.30
(160t

2.24
{581 (1071

6.46
11641

2.05
l52l 11 .2)

2 6 0
(66)

4 5 3
1 1 1 5 )

6.77

1.57 4.O2
t1021

3.07
ITAl

0.98
t25l

2.05
t52l

0.55
l14 l

0.43
t21l M12x1.75 M22r1.5

1 .46
(371 4116J

5 5 1
t r40 t '112)

7.47
(&0t

2 7 9 5 0 6
1129)

7.64 2.55
t65) 1?5)

3 . 1 5
tBo\

5.43
'135)

7 9 9
t203)

t 1 1 6 1
3.62 1 . 1 8 2.05

152\
o55 0.83

121\ Ml2x1 75
0.43
1 1 1 ) M26x1 5

1 .57
(40)

4.S6
{126)

1 .97 6.38
i162)

5.35
t136)

8.74
t222)

2.83
<72)

5.31
1135)

4 . 1 1
1206)

2.55
(65)

0.55
N4.0)

1 . 1 9
(41)

5 6 7
1215t

7

'Min. Slrcke = 0.79 (20mm) with Bool Millmelersrn Pareh$eses



SERIES CP
CYLINDER POSITIONING ASSEMBLY
DIMENSIONS
REPAIR KITS

SINGLE CLEVIS

AORE PABT# A Ar 6E L l MM B, vr OND NX

50 mm t-05
2 9 1

(74)

1 0 6

(271

r 1 0

(28)

236

(60)

M 1 8 x 1  5 0 .61

1 5  5 )

0 7 9

(20)

0 4 7 + 0 0 0 3

( 1 2 + 0 0 7 0 )

-  " -  0 0 1 2

(16  oo j )

63 mm t-05
2 9 1

(74)

1 0 6

(27)

r ' 1 0

(28)
236

(60)

M 1 8 x 1  5 0 6 1

1 5  5

0 7 9

(20)

0 4 7 + 0 0 0 3

(12+0 070)

o Aa o 0039

(16 oo31)

80mm t-08
3 5 8

(91)

1 4 6

(37)

, 4 2

(36)

2 A O

(71)

M22x l 5 0 8 9

225\

1 0 2

(26)

0 7 1 + 0 0 0 3

(18 + 0 070)

r 10 3ff1"
(28 o:3')

t -10
4 1 3

(105)

1 4 6

(37)

1 5 7

(40)

3 2 7

(83)

M26x1 5 0 9 6 1 1 0

(28)

I 79 + 0.0033

e0 +o oa4)

| , A  0 0 0 3 9
' ' '  0 0 r 2

(30 T31)

Mill imeters in Parentheses

DOUBLE CLEVIS

BORE PAFT# Al dE, Lr MM R, v, dND NX NZ

50mfr Y-O5A
1 0 6

(27]

1  1 0

(28)

2 3 6

(60)

M 1 8 x 1  5

(1  5)

1 0 6

(27)

0 4 7 + 0 0 0 3

( 1 2 + 0 0 7 0 )

v  v v  + 0  m 3 q

( 1 6 j 3 i )
1 5 0
(38)

63mr Y-O5A
1 0 6

(27\

1  1 0

(28)

236

(60)

M 1 8 x 1  5 0.59

(1 5)

1 0 6

(27\

0 4 7 + 0 0 0 3

( 1 2 + 0 0 7 0 )

0 6 3 o  0 1 2
o @39

3ir( 1 6

1 5 0

(38)

80mr Y-OgA

1 4 6

(37)

1 4 2

(36)

2 8 0

( 7 1 )

M22x1 5 o75

(1s)

1 1 0

(281

0 7 1  + 0 0 0 3

(18 + 0 070)

0 6 3 a o 1 2
0 @39

o 3 )(28

2 1 7

(55)

Y-1 OA

'I 46

(371

1 5 7

(40)

3 2 7

(83)

M26xl 5 0 8 3

(21)

1 5 0

(38)

) 7 9 + O 0 0 3 3

(20 + 0 084) (3ol;)
2 4 0

( 6 1 )

Mill imeters in Parentheses

CLEVIS PIN
PART #

NUMBEF

REAR CLEVIS

BORE

RODcLEVt!
BORE

DIMENSIONS

sDdg L 2 m od

CDP.34 50 40,  50 ,63
n , z  - 0 . 0 0 2
v  - '  - 0  0 0 3 7 2 1 9 1.87 o 1 2

(55 5) (47 s) (4) (3)

CDP.44 63
0,63 2 8 0 240 0 2 0 0 1 6

( ro .1339)(71) (61) (5) (4)

CDP-5A 80
0 7'l 3 0 1 0 2 0 0  1 6

r a -u.usu I'" -D 093 ' (76 5) (66 s) (5) (4)

CDP.6A 80 100
o 7s -9 99?9 2 A l 0 2 0 0 1 6

( zo .3Yii) (83) (73) (5 ) (4)

CDP.7A 100
0 9 8 3 4 6 3 0 7 02a 0 1 6

( 2 5 - 0  1 1 7 (88) (78) (5) (4)

REPAIR

Actuator Assembly #1P200-02

Actuator Repair Kit #1P200-RP
Consists of:

1 - Back Pressure Diaphragm
1 - Supply Diaphragm
1 - Input Diaphragm
1 - Packing
4 - Spool& Sleeve "O" Rings
1 - Fixed Orifice "O" Ring

Cylinder Repair Kits
(All rubber seals)

Gauges

Supply Pressure
G 43-10-01

Signal Pressure
G 43-2-01

SMC Pneumatics, Inc.
3011 N. FRANKLIN ROAD, INDIANAPOLIS, IN 46226
TEL: 31 7-899-4440 FAX: 31 7-899-31 02
For a branch office near you call: 1800-SMC-SMC1 (762-7621\

Bore Part #
50mm CA1 N5O-PI
63mm CA1N63.PI
80mm cA1 N80-Pl
100mm CAl Nl OO-PS

Consult factory regarding Repair Manual

July 1998 Specifications subject to change without notice.


